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Reading Text

' 4 \

ata) lztel 2E)
Environment and Appearances of Human Beings

M|A|Oll = Efefet 21S0[ UG LT

O Lo

There are diverse races in the world.

OS2 A, d= 2%, =2 2, 2o 2, €| 2 50| CHEL T},
They have different colors of the skin, physiques, shapes of face, shapes of eyes,
shapes of nose, shapes of hair, and so forth.

O[F7 C+E Ol= &E0| tH27| W2 LT,

The reason why they are so different is because the environments are different.
(=The reason of differences is due to the differences in environment.)

A'0l= ChYet Q10| =2 HUSL T
\In old days, different races lived separately from each other.




SHA|QE MA2IF £|HM M2 A2 2UA £, oF L2t QHoj] o{2{ QIZ0| &7H|
A Z[JEUCH

However, due to the globalization, people started to actively visit each other and
diverse races have come to live together in one country.

‘TH23t AT 2t = Zd ULt
‘Multicultural age’ has come.

QIZOIC 2252 CIEX|0 0| A E S 25| L& ULH
Every race has different appearance, but thls is not important.

fe| BEIFE2 07| 2 YUt

—

Because we are all the same human beings.

\

Notes

MIAIO= : MZ (world) + -Off(marker(in)) + -=(marker(exclusion))

CtFSt : diverse
QIZ0| : Q1= (race) + -Ol(subjective marker)
UASGLICEH: J(ChH(to exist) + -&L|CHending(declarative))
|2 A - colors of skin

A& : physiques
A= 2 A= (face) + 2 (shape)
=9 B2k F(eye) + -2|(possessive marker) + 2 (shape)
39| B2k : F(nose) + -2|(possessive marker) + 22 (shape)
&9| P QF: H(hair) + -2|(possessive marker) + 2QF
50| : S(and so forth) + -0|(subjective marker)
CHELICE : Ct=2(CH(to be different) + - L|CHending(declarative))
O|Z A : like this
CHE . Ef (CH(to be different) + -L (ending(relative clause; noun modifying))
0|f+= : 0§ (reason) + -=(marker(exclusion))
2F"'OI 34 (environment) + -0|(subjective marker)

Ct27| 2 Y LCE : Ct2(EH(to be different) + -7| MZ0|Ct(modal aux.(because) + -& L|C}

(ending(declarative))
olliojl= : cllid(old days) + -Oll(marker(in)) + -=(marker(exclusion))
U2 : seperately
-Qt-5 LT} - & (Ch) (to live) + -%-(pre-ending(past tense)) + -&L|Ch(ending(declarative))
FZ|2F : however
MIAISZt : MAIZHglobalization) + -7Hsubjective marker)
T|HM : £ (CH(to become) + -HA{(connective: passing by)
M2 : each other
HIXOZ : actively
RIHA E|--10 1 27HE (to come and go) + -A| =/ (Ch (modal aux.(to come)) + -A-(pre-
ending(past tense)) + -2 (connective: and)
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:one

Lt2t : country

Otof| : 2k(in) + -Ofl(marker(in))

o2 : diverse

QIZ0| : Q1= (race) + -O|(subjective marker)

&t : together

A g]-A-ELIC} : AT (to live) + -AH| E|CHto come to) + -Xi-(pre-ending(past tense)) + -
&LICHending(declarative))

CH23} : multiculture

A|CHZ} : AlCH(age) + -7F(complement marker)

El ZAJ LTt - 2[ () (to become) + -1 Zd(expression(making noun phrase)) + -O| (T} (to be)
+ - LCHending(declarative))

QIZDICt : Q1= (race) + -OtCHmarker(each))

2252 225 (appearance) + -2(marker(comparison))

C=X|8t : Ct=(C}) (to be different) + -A|2F(connective: but)

0|Zd2 : 0] Zi(this thing) + -=(marker(exclusion))

S22 AELICH: S25HC}) (to be important) + -2| 4Ch(modal aux.(to do not)) + -&LICt
(ending(declarative))

2] we

DEJL: B5(all) + -7Hsubjective marker)

ZE same

QIZ+0| 7| WHEYLICE : 21ZFHhuman being) + -O[(C})(to be) + -7| WHEO[(C}H) (modal

aux.(because)) + - L|Ct(ending(declarative))

Comprehension Check-up

1. Ch¥BH Q1Z0] QU 019 RHYLITE?
2| &

1) &30| 27| W20|Ct 2) A[HOo| Lt=7| WiZ0Itt 3) 0|7} 27| Wh20[ct. [E: 1]

2. R TH20] 3 L2t Otof 0f2f Q1Z0| B A E| AL
1) & 2) NPASH 3) A =)
3. 9129| A= RAYLIE

2) MA2t7F 2| At
3) 2252 L2 25 Z2 AZ0[C} [E: 3]



Conversation

=

Atet o CHY K= ot RIS 2ot ?
Sarah: Danny, do you have a lot of Korean friends?

CHY| -
I:IAMo-I-'—'-
Danny: Hmm:-- before | came to college | had lived in a place where there were
almost no Koreans. So | did not have Korean friends.

ot= Q10| AHO| gl= RO EAN K. T2iM st= 217t

Atet s d2fe? O stuof|M 22| et 2l0|/UH2?
Sarah: | see. Then were you the only Korean at school?

CHL| @ 4|, 22| &HE0f| A =2 St=QI0|A0 2. ATt SYQUE Ho| QAN 2. T2hA
A E 1&E3l= O0|EE A0,

Danny: Yes. | was the only Korean in my class year. Moreover, there were almost
no Asians either. So there were some kids bullying me.

Atet: Eol el L.
Sarah: That must have been tough.

CHL| @ Al =0] 2{Ct1 =2|= 010|= 20| EfHE=E iR . EfHEZE & stL 7t OO
=0| O O 1| F5|A] XUR 2. AF2 277t Ot ot

Danny: | learned Taekwondo because of the kids Who were teasing me with my
small eyes (= Asian eyes). | became good at Taekwondo, and the kids stopped
teasing any more. Now | have a lot of friends.

At A AIRZ | A= 25 2A4|17t SN2, D20 CHEHE0| £ LiL] SIS0 .
Sarah: | did not have any problem until adolescent. But as (=after) | become a
college student, | feel troubled.

CHU - Of, J2i2? & 242X =08t =fe?
Danny: Are you? May | ask what the problem is?
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w At Z2tEo)

1. O O FAL B 2F HAL 0|, & TH0{7} O[04 O|0|S O|F 2= [0 O} St
2. -2/ ASSIC LFCre| AFSAL, -01/7t XSt
3. M3 T2 BYS LIEIL= TO{2F 74 AHESH0] ‘2t sl '0r=2| 2|b|E Z=Ct.
of) M5 2= U, M CHE AtE, 45 MER 25, 25 HA| Z/ATE, HH =FC
OlE1t 20| U's F=2 E20f, TI2LY, -2| gitfet 22 £ Bodat g7 2Q1Ct
4. -0t/0j/0 = E|Ct 5|=HS o=
off) o|tk7} eto e &fi?
AL A|ZS B E efiR?
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Notes

CHL] A= : CHL (Danny) + &Kl (mr.) + -=(marker(exclusion))
5= : Korea

21717+ - 17 (friend) + -7}(subjective marker)

arotR? : BH(CH(a lot of) + -0t ?(ending(interrogative))

= hmm

CHst : college

Q& : entrance

o= : X(before) + -O(marker(in)) + -=(marker(exclusion))
5t=2Q10| : §+=22l(Korean) + -0 (subjective marker)

9| : almost

9= oA : Sl(ChH(there is no) + -=(ending(relative clause; noun modifying)) + =2(place)
+ -0l A (marker(in))

A-Q-0{ R : A(Ch)(to live)+ -Q%-(pre-ending(past tense)) + -0{ 2 (ending(declarative))
J2iAM :so
A-A-0{2 : gL(CH (there is no) + -RU-(pre-ending(past tense)) + -0{2 (ending(declarative))
242 7? Really?
& : then
SHWOf|A : &1 (school) + -0l A (marker(in))
S22} anne(onIy)
SHQ10[-A-0{ 2?7 : §+=22l(Korean) + -O|(C})(to be) + -%i-(pre-ending(past tense)) + -0{2?
(endmg(mterrogative))
4l : yes
22| : our(the meaning of ‘my’)
SHAO] : SHd(class year) + -Of (marker(in))
A polite |
- alone(only)
7} : moreover
& 5l (Asian) + -=(marker(also))
almost
1(polite ) + -E(objective marker)
: 1 &3|(CH(to bully) + =(ending(relative clause; noun modifying))
: OF0| & (kids) + - (marker(also))
Sii L : U(ChH(to exist) + -RAU-(pre-ending(past tense)) + -0{ 2 (ending(declarative))
-alot
':'91-7&014 : B1E(CH (to tough) + -U-(pre-ending(past tense)) + -Z!-(pre-
ending(conjecture)) + -0{2 (ending(declarative))
Al : contracted form : 22| (*{(polite I) + -2|(possessive marker))
0| : =(eye) + -0|(subjective marker)
ZtCE @ 2K} (small) + -Ct22 (quotative(declarative))
=2|= : =2|(C}) (to tease) + -=(ending(relative clause; noun modifying))
T} : because of
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EfHEE : EfE=(TaeKwondo) + -E(objective marker)

IO L : Bf2(CH(to learn) + -R4-(pre-ending(past tense)) + -0{ 2 (ending(declarative))
25U 7t - 25HE (to be good at) + -L|7Hconnective: because)

O0|=0] : 00| = (kids) + -O|(subjective marker)

& O]+t @ any more

N E5|A] RUAR L 1 AFSF](H)(to tease) + -A| 2% (CH (modal aux.(to do not)) + -%4-(pre-
ending(past tense)) + -Z|2(ending : confirm)

2|22 : AZ2(how) + -2(marker(exclusion))
OH very
arote : 8K () (a lot of) + -0t (ending(declarative))

A= X (polite I) + -=(marker(exclusion))
AE7|7 A& At 7] (adolescent) + -7HA|(marker(until)) + -=(marker(exclusion))
3] not at all
A7t - 2| (problem) + -7t(subjective marker)
A-A-0{2 : QI(ChH(there is no) + -RA-(pre-ending(past tense)) + -0{ (ending(declarative))
&g but
CHSHO| : et (college student) + -Ol(complement marker)
T2 L - E[(B}) (to become) + -1 LiL|(connective: and then))
=502 : g=(C})(to be hard) + -0{2 (ending(declarative))
£Z& T what
2AHC1Z| » 24| (problem) + -0O[(Ch)(to be)+ - X|(connective: whether)
S0EtE S 27 : Z(CH(to ask) + -0 E(Ct)(modal aux.(to try)) + -Ot= Z|(C}) (modal aux.(it
is all right to)) + -0{2?(ending(interrogative))



»  Comprehension
1. e A3 2177 ALl gltt. (T/F)
=
2. L= =2l= O1o|& Mol EfH=Z BTt (T/F)
=
[ |
% Vocabulary
of2{ Li2t AfEtat 2HAE 03] Aly| Heo| 2t2 03]
o=l / 5t= AtE Korean (people) = eye
0|=Ql / O|= AFZF American il nose
=0l / L& ALZ Japanese, the Japanese ol mouth
232 / = A Chinese, the Chinese =] ear
OetAQl y matA At2h French, the French | face
£l / = A2t German, the Germans o arm
AIQ1 AtZ Spaniard, the Spanish Cte| leg
AC} to be small
Act to be big
=Sottt to be fat
Ekalcll= to be slim
Ct2cCt to be different
al=Ct to be hard
p AL 2ol
1. H8Al AEA= 2 HA0|L HEl, £4S LIEfU = O[Tt
2, st=0{2| AEAL
- ot=0{2| A EALE SAIR ORIVIA 2 B4 K0l CHet B2 283 5t0] CHst JAe
2 LEHHCHE E"'OI UL,
o) 2= EM7t =]t
OA| M7t =ZICt.
L Y47t SelZUct
SOt S2|™ CF20i| 7t}
A 07t ‘S2[-0f “UCFO|Lt -FCP, = -(2)T 0| st & # A 2|0|F HStLt. O
= Y8Ate| &80|etn st=0| 025t E3 [[H-E-Oﬂ YEA'E HENSAH(descriptive verb)'2f
5t7| &= otCt
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" Explanations
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-0]/7t 712| ¢ict, -ol/7t §ict

-0[/7t 79| Qitk= UR|TH 11 47} Ot HChs RS LEHHL, -0]/7F gith= Of Ao S
LtEtLiE 210l

SY0IE 29| gigiole. 313 A7} 9ol
312010 719 ol oM AU0IR.  AIRTITEAIE AL g0,
A 20| 249l glote. A= #EO| glo2

‘20| BE ' 2He O|0|S T} ZAIR, 24240 20| CIZ SYO| UCHs 22 LIEH o 4= B

of) ArEOrCt §#0] Ch=C,
YL0OIL} 0|Y =S Y=t
OIS0t 2252 TIEA|2 0| A2 S25HA| st
IS0t g 40| Ot CHE U
AOtE €=0| e LT
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Exercise

B:
1) 22ie? sSAAo 2.
2) 2| E35|= AEO] Ao gloj2.
3) =2l&= 010|& WE0] EfH =S HiR oL, [B:1]
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3. A MAS

B :eflM Of2f Q1F0| &A 41 R,
1) SUARB MZE HIHZ QI L.
2) HBHM M2 AZHoz QI EA0 L.

3) €| 0f2f QIZOICH Abs 20| 22t Hol. 2]
4. A 22| stmoj 32010 Aot A 27 So[oR.

B J2ie? 92| stmol= +2910| 0FF goie.
1) 72| glojg. 2) OF3 Bote. 3) Mol gate.

[E:1]



" Reading & Writing

ChSah 20| 2|20] cish 2talo] MZhS M FHI2.




